EARAROBEEIERT — 2 N— IBISH —F

201951 A3H (K) 22@EZHE3H

WMo At TALYALRIE<A CO ¥5%— (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :230,000” ~ 237%:58,000MH  33%&:28,000M”  437%&:18,000 H .~ 5 & :12,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. Soe =ie o4 | LR 1:30.8 6-5-4-2 |38.7| — 2 493 | BB (BEHE)
1155 EAMFTN=T2 8.0 =) Lo | B Tr=xtEva
L:ZZXHhveR B2y —Ya21-X g5 Rs
5 4t 5 | FHERRA 1:31.0 8-7-6-4 |38.5| — 5 420 |AHEEL (BHE)
EEG J—=hLT > 54.0 M (5 |® ViridianKeibaC|
I INATA—H— B/ —hVT7>Ta EZHTT7— L
. PN = it 4 | FEBME 1:31.2 7-8-8-7 |38.4| — 1 406 | AEEBH (BHE)
3l |\ T>vireT 54.0 (3/4) (1) |RERET
:RU—LIv—=— BT TIVHE BHR&E 72TV InNL—
. R # o4 | SHEKX 1:31.5 4-4-3-1 |39.6| — | 4 | 433 |BHEHL (BEE)
4 3 ok o e = %2 56.0 (1 1/2) 3) chPEAE T
R:Zv—bAEY B:YRF—FTI— HESHE 4TV yINL—
- ~ . a1, 34 6 — ML TRE (LHE)
5 9 FATLTZFI 4 4 P (11311/27) 3-3-4-5 |39.6 3 <4+733; e
RN=V7514 B:TF4ITyvFT)—> LAY Tae ]
;= B4 | AZEIE 1:31.8 1-1-1-3 | 40.2| — 7 475 | FFLE— (BHE)
6177|272 7T =a— %53.0 (1/2) (1) |BAEEX
Ri*xfavk—-5— B:O>IT7F E&FL BRI
" > FILE— :32. -0 . - ATEN (BHE)
2lglg| 2Ny Ta x4 Al 1(342)6 2-2-2-5 | 40.8 6 <4+728) fs.mﬁ[ém
R:7L>FFEaT1 B:ZH =]
. - L5 | BT . 67 — RORE (LHE)
alglg|l7o>v—ndyk B2 8 | 1.(323).0 5-6-7-8 | 40.3 8 <4+225) AR
R:wy)gdyk B:3XF e A
. 3 > 9 | DOEERIE 1:35.1 9-9-9-9 |40.9| — 9 483 | FEBC (BHE)
EH 4| E— T+ L4 - 56.0 (21 4) (-2) (B) k=257
L4 AT hyh— B:XAXAIINLZR [ cEse]
® I—F—@EBIERL
13—7F— 7,9,2,3,8,5,1,6,4
Ao=5"= 7,9,2,3,5,8,6,1,4
3a—+— |[7,9,3,(2,5,6,8,1,4
AT =gr= 3,5,7,6,(2,9),1,8,4
[ RN
B 5 390F 794K 5-6 570 & 5-6 3,210 &R 1-5-6 1,000
# B 5 1204 =5 160M B E 5-6 3,020 EE 5-6-1 8,400/
6 1609 1-6 330M B H 5-6 4,010
1 120M

ABICOVWTRDTEEERROODE. TR LIV,




